CHT- CONTRACTUAL TEACHER (TGT ARTS) 2022
EXAM ! E-BOOK (PDF) 6,000 BEST MCQ ! CHAPTER WISE
QUESTIONS & ANSWER

#9900 ¥99.00

Validity- 1 Year

English- 1500 (MCQ)...

ADD TO CART

Click Here

<& Tech of World M Q

HOME VIDEOS

2iel Channel 6Q 696 Video

ASO 6@aI6a’IR CT (3 B.Ed
(3@6” 6aIda SSC GD J

PLAYLISTS COMMUNITY

TOW

Tech of World
SUBSCRIBE

315K subscribers * 928 videos
Hello QIEF ¢1I6R 1! 26192 Channel 68 99 4168 Educational Video
Free 68 606/0IR6Q 604 69619@A @RS 92 "Tech Of World" Channel § ...

+2 @4l +3 992 U6
600 K648 am

CLRAIACR ? |
CT B B.Ed 96Q Q€] -.mo

How To Become A Teacher After +2 Or +3 In
Tow Odisha ? How To Get A Teacher Job In Odisha ?
Tech of World - 176K views - 3 years ago

=0
(] s @ & &
Subscriptions Library

Home Shorts
Click Here

Join Us-

Download Tech Of World App

CHT- TGT CBZ 2022

100% AFRSI

CHT- CONTRACTUAL TEACHER (TGT CBZ SCIENCE) 2022
EXAM !! E-BOOK (PDF) 6,000 BEST MCQ !! CHAPTER WISE
QUESTIONS & ANSWER

more

#199.00 ¥99.00

Validity- 1 Year

Previous Year Question- 750 (2022, 2021 & 2019 Year)...

more

ADD TO CART

WtsApp/Call- 8596976190

CHT- TGT PCM 2022

E-BOOK-PDF/

CHT- CONTRACTUAL TEACHER (TGT PCM SCIENCE) 2022
EXAM !! E-BOOK (PDF) 6,000 BEST MCQ !' CHAPTER WISE
QUESTIONS & ANSWER

#199:00 ¥99.00

Validity- 1 Year

Previous Year Question- 1,350 (2022, 2021 & 2019 Year)...

ADD TO CART

Click Here

€ Q

Tech Of World- (Odisha
Exam CT

Tech Of World

Uninstall

Your Review

sujit kumar naik
& KKKRKK 0921

Edit your review
Developer contact v

About this app >

Tech Of World (Odisha Exam) Provides Mock Test &
E-Books For Different Exams

Education

3.8% (34 50K

422 reviews © 422 reviews Rated for 3+ ©@ Downlo

Mock Test

19960 02 Mock Test

FrECH OF WORLL

Click Here

Click Here

< &S Tech Of World

& 41K subscribers

(O Leave a comment > °

ASO Englsih 2022
By...

ASO General
Knowledge 2022..

ASO Math 2022 By
Techofworld.In.pdf

ASO Odia Languge
@ 2022 By...

ASO Reasoning
2022 By...

)% 3 comments >

Click Here



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld

Download Tech Of World App ~ WtsApp/Call- 8596976190

Setld : 72710 _32 TGT Arts_28 Oct 2021_Batch1

Section 1 - Paper | General Knowledge and Current Affairs

No. of Questions: 20

1) Who among the following personalities was the two time recipient of Odisha Sangeet Natak Akademi
award and was also the veteran Indian classical singer of Gwalior Gharana?

A) Sunanda Patnaik

B) Raghunath Panigrahi
C) Bhuvaneshwari Misha
D) Damodar Hota

2) Which of the following universities emerged as the champion of the inaugural edition of the Khelo India
University Games that concluded in March 2020 at Bhubaneshwar, Odisha?

A) Savitribai Phule Pune University
B) Maharshi Dayanand University
C) Panjab University

D) Jain University

3) In March 2020, five more departments of the Odisha government were brought under this programme

which aims to provide service with dignity to people coming to government offices for different purposes.
Identify the name of this programme.

A) Government at your Door
B) Akankshya

C) Anwesha

D) Mo Sarkar

4) The Constitution of India guarantees protection from social injustice and all different forms of exploitation.

Which of the following is an INCORRECT option pertaining to the protective legislations acted by respective
governments?

A) Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006

B) Scheduled Castes and Scheduled Tribes (Prevention of Economic offences against tribal people) Act,
2005

C) The Protection of Civil Rights Act, 1955
D) Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act, 1989

5) The Human Development Index (HDI) includes which one of the following components?

A) Ratio of Medical Doctors per 100 people in an area
B) The Birth and Life Expectancy
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C) The Students graduating from Pre-Primary School
D) The Infant mortality rate due to Pneumonia and Diarrhea

6) The objective of Social Development Goals is to link together different dimensions known as Triple
Bottom Line combining 3Ps. Which of the following are three Ps in Triple Bottom Line of SDGs?

A) Place, Person, Position

B) Progress, Possibilities, Profit
C) Place, Pricing, Product

D) Planet, Profit, People

7) Choose the CORRECT option for the given statements.
(i) Madhusudan Das established Satyabadi Vana Vidyalaya at Sakhigopal in Puri .

(ii) Satyabadi Vana Vidyalaya was based on the model of the Deccan Education Society, Pune.

A) Statement (i) is True and (ii) is False
B) Statement (i) is False and (ii) is True
C) Both the statements (i) and (ii) are True
D) Both the statements (i) and (ii) are False

8) The Congress members organized the first session of the Utkal Pradesh Congress Committee at which
of the following place?

A) Puri

B) Cuttack

C) Bhubaneswar
D) Sambalpur

9) With a rise of nationalism and starting of Independence Movement, who of the following became the first
political prisoner from then state of Orissa?

A) Godavaris Misra

B) Jadumani Mangaraj
C) Rajkrushna Bose
D) Nilakantha Das

10) Which of the following cases deals with right to travel abroad as a part of the Right to Personal Liberty
under Article 21?7

A) Maneka Gandhi case
B) Raj Narain case
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C) Waman Rao Case
D) Minerva Mills case

11) In which of the following cases does the bill gets lapsed in the Parliament of India?

A) Abill pending in the Rajya Sabha but not passed by the Lok Sabha

B) A bill passed by both Houses but returned by the President for reconsideration of Rajya Sabha
C) A bill originated in the Lok Sabha but pending in the Lok Sabha

D) A bill passed by both Houses but pending assent of the President

12) Which of the following cases dealt with the power of the Parliament to amend the Constitution of India?

A) Kesavananda Bharati case
B) Shah Bano Begum case
C) Indra Sawhney case

D) S. R. Bommai case

13) Plants, like coconut trees for example, appears to bend towards sunlight. Which of the following

statements is CORRECT with reference to the given scenario?

A) sun light is required for Photosynthesis
B) Diffusion of Auxin to the side away from the light resulting in a larger growth
C) Gibberellins are present more on the remote side of the plant

D) Cytokinin are present more on the side facing the Sun

14) Which energy is converted into chemical energy with the help of the green pigment, chlorophyll?

A) Sound energy
B) Potential energy
C) Light energy

D) Gravitational energy

15) It is called 'Acid rain', if the pH value of rain water is:

A) s
B) g
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C)g
D) 10

16) Myopia is a disorder associated with which of the following sense organs?

A) Eyes
B) Skin

C) Ears
D) Nose

17) In which of the following neighbouring countries of India is the Mount Everest called as 'Sagarmatha'?

A) Nepal

B) Bhutan
C) Bangladesh
D) china

18) Which among the following railway stations has the longest railway platform in India?

A) Gorakhpur Railway station
B) Achalpur Railway Station
C) Andheri Railway Station

D) Balrampur Railway Station

19) Labrador Current occurs in which of the following oceans of the world?

A) North Pacific ocean
B) South Pacific ocean
C) Indian Ocean

D) North Atlantic ocean

20) Which among the following continent is the homeland for the famous tribal group Bushmen?
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A) North America
B) Asia

C) Africa

D) Europe
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Section 2 - Paper | Reasoning Ability

No. of Questions: 20

21) Select one of the following four options that will make the 2nd pair analogous to the 1st pair given

65902 : 12101804 : : 40934 : ?

A) 801634
B) 801868
C) 802034
D) 802468

22) Given below a set of inequalities given as statements. Choose the conclusion(s) that logically follows
the statements by selecting a relevant option.

Statement: M2N>C<V<Z P=R>ZTz2M
Conclusion:

.LP=C>T

In.T>V

ln.P>C

A) Only | follows

B) Only Il follows

C) Only Ill follows

D) Only 1l and Il follows

23) Given below a question followed by 2 statements numbered | and Il. Choose the statement(s) required
to answer the question by selecting the relevant option.

Question: If P and Q are positive integers, then is 'P' an even integer?
Statements:

l. P xQis odd.

.P>5

A) Statement | alone is sufficient

B) Statement Il alone is sufficient

C) Both statements | and Il together are sufficient

D) Question can't be answered even by using both the statements
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24) Select one of the following four options that will make the 2nd pair analogous to the 1st pair given

213:640::319:7?

A) 816
B) 829
C) 932
D) 958

25) Amol, Bibek and Champak can together complete a piece of work in 6 days. Amol alone can complete it
in 16 days and Bibek alone in 20 days. How many days will be taken by Champak to complete it alone?

A) 8.57 days
B)os days
C) 18.46 days
D) 8.89 days

26) The salary of 'A’ first increases by 40% and then further increases by 20%. What is the net percentage
increase in his salary?

A) 40
B) 60
C) 64
D) 68

27) The initial population of a town was 17,000. It increased by 10% in the first year and then it increased
further by 15% in the second year. What is the population of the town after second year?

A) 19,700
B) 21,505
C) 23,400
D) 24,715
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28) In a college, the ratio of the number of boys to the number of girls is 8 : 5. If the number of girls in the

Download Tech Of World App

college is 160, then what is the total number of boys and girls in the college?

A) 192
B) 256
C) 260
D) 416

29) In how many matches Rahane scored more runs than the balls he faced?

WtsApp/Call- 8596976190

Kohli Rohit Rahane
Runsscored | Balls faced Runsscored | Balls faced Runsscored | Balls faced
Match 1l 32 50 17 12 112 98
Match 2 0 3 97 78 12 27
Match 3 43 41 28 28 30 91
Match4 2 8 19 17 47 52
A) 1
B) 2
C)3
D)0
30) Which batsmen never faced more balls than the runs he scored?
Kohli Rohit Rahane
Runsscored | Balls faced Runsscored | Balls faced Runsscored | Balls faced
Match1l 32 50 17 12 112 98
Match 2 0 3 97 78 12 27
Match 3 43 11 28 28 90 91
Match 4 2 8 19 12 47 52
A) Kohli
B) Rohit
C) Rahane

D) Cannot be determined
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31) In match 3, if these three scored 50% of the total runs scored by the team, then how many runs did the
team score?

Kohli Rohit Rahane

Runsscored | Balls faced Runsscored | Balls faced Runsscored | Balls faced
Matchl 32 50 17 12 112 98
Match 2 0 3 97 78 12 27
Match 3 43 41 28 28 90 3 1
Match4 2 8 19 12 47 52

A) 288
B) 306
C) 318
D) 322

32) For which of them, the ratio of total runs scored to total balls faced is highest?

Kohli Rohit Rahane

Runsscored | Balls faced Runsscored | Balls faced Runsscored | Balls faced
Match1 32 50 17 12 112 98
Match 2 0 3 97 78 12 27
Match 3 43 41 28 28 30 91
Match 4 2 8 19 ? ¥ 47 52

A) Kohli

B) Rohit

C) Rahane

D) Equal for all three of them

33) If in a certain code language, "EVAPORATION” is coded as “VXZRLTZVRQM", then how is *
CONDENSATION” coded in that language?

A) XQFMVPHCGKLP
B) XQMFVPHCGKLP
C) XQMFPVHCGKLP
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D) XQMFVHPCGKLP

34) Select one of the following four options that will make the second pair analogous to the first pair given :

Electromagnetism : Physics :: Histology : ?

A) Biology

B) History

C) Economics
D) Statistics

35) If “ENTERPRISES" is coded as 10 and “RISINGSUN" is coded as 8, then what is the code number for “
AEROFIT"?

A) 4
B) 5
C)s
D) 7

36) In a certain code, BROTHER is coded as 4912359, NIECE is coded as 06575, and MOTHER is coded
as 812359. How is “INTERCOM” coded in that code?

A) 60259187
B) 60259718
C) 60257918
D) 60259178

37) Alex is the father of David whose sister is married to Robert. How is Robert's mother in law related to
Alex?

A) Sister

B) Wife

C) Daughter

D) Granddaughter
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38) If A is to the south of B and C is to the east of B, then in what direction is A with respect to C?

A) North-east
B) North-west
C) South-east
D) South-west

39) X starts walking from the place ‘A’ 4 km east and reaches place ‘B’, then turns right. After going 3 km
straight he stops at the place ‘C’. The distance between ‘A’ and ‘C’ is

A) 4 km
B) 5 km
C) 6 km
D) 7 km

40)A,B,C,D, E, F, G, H and | are nine houses. C is 2 km East of B. A is 1 km North of B and H is 2 km

South of A. G is 1 km West of H while D is 3 km East of G and F is 2 km North of G. | is situated just in the
middle of B and C while E is just in the middle of H and D.

What is the distance between B and H?

A) 0.5 km
B) 1 km
C)1.5km
D) 2 km
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Section 3 - Paper | Computer Literacy
No. of Questions: 10

41) ldentity the term related to 2013 PowerPoint presentations is

A) .txt
B) .pptx
C) .docx
D) .xIsx

42) |dentify the feature of ROM

A) Itis Volatile memory

B) It can allow the user to perform read and write operations
C) Itis dynamic in nature refresh is needed always
D) Stores the instructions that are needed to start a computer

43) A keyboard typically have the following keys
i) Functional keys

i) Numeric keypad

ii) Control Keys

iv) Alpha Numeric keys

A) Only ii and iii

B) Only i and iv

C) Only i,ii and iii

D) All i,ii,iii and iv

44) Which of the following way virus can enter and affect our system?

A) Downloading the file without scanning through internet
B) Without using antivirus software

C) Accessing the sites without HTTP or HTTPs
D) All the options

45) Coding system ASCII stands for

A) American Static Character for Information Interchange
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B) American Standard Code for Information Interchange
C) American Standard Character for Input Interchange
D) American Static Code for Interchangeable Input

46) Identify the types of monitors from the following:
i) CRT

ii) LCD

iii) LED

iv) OLED

A) Only i,ii and iii

C) Only i,ii and iv
D) All i,jii,iii and iv

47) In which of the technique the attacker flood the server or network with unwanted messages to exhaust
the bandwidth or resources?

A) SQL injection

B) Denial-of-service
C) Malware

D) DNS tunnelling

48) What does SMTP Stands for in networking ?

A) Simple Mail Transfer Protocol
B) Soft Mail Transfer Protocol

C) Simple Merge Transfer Protocol
D) Simple Mail Text Protocol

49) ARPANEet is the first wide area network packet switched network. ARPANet stands for

A) Advanced Range Peer Agency Network

B) Advanced Research Projects Agency Network
C) American Research Publicwide Area Network
D) American Rangewide Public Area Network

50) In many social networking sites people are using short messaging system. What is the full form of "TMI"
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A) Translate Message Issue

B) Too Much Information

C) Text Me immediately

D) Transfer Money Immediately
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Section 4 - Paper | Pedagoqy Educational Management Policies and Evaluation

No. of Questions: 40

51) Which of the following is the right sequence ?

A) Test, measurement, assessment, Evaluation
B) Evaluation, Test, Measurement, Assessment
C) Test, assessment, Evaluation, Measurement
D) Assessment, Measurement, Evaluation, Test

52) To design a reliable test which of the following formats of qustioning are suitable?

A) Multiple choice questions
B) Essay

C) Short answer

D) Completion

53) Larain her class has a main objective of improving her teaching methods so as to improve learning of
her students. She prepared a plan for the future goals of her students. This she felt will provide evidence of
achievement to parents, educators, her students and outside groups. It can provide a transparent

interpretation across all audience. Lara is practicing

A) Assessment for learning
B) Assessment in learning
C) Assessment of learning
D) Assessment as Learning

54) Grading system is a qualitative assessment of achievement of a student. This process has which of the
following limitations?

a) Grading system takes the emphasis away from marks.
b) It reduces fear and complexities among the students.
c) Subjectivity in evaluation is possible.

d) Educators disagree in regard to points of the scale.

e) System is much more meaningful and feasible.

f) Creates confusion and interpretation of the result.
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A)cdf
B) a,b,e
C)d,ef
D) b,d,e

55) Which of the following is an advantage of CBCS?

A) It allows management to limit curriculum scope

B) It prevents unique combination of subjects

C) ltis a student -centric education

D) It limits the students from undertaking too many courses

56) Assessment findings could be beneficial to a student's learning if the

A) Teacher generates right amount of seriousness and tension towards the tests
B) Assessment scores are properly interpreted by statistical analysis

C) Assessment activities are aligned with instructional objectives

D) Tests are conducted in strict conditions and are uniform

57) A holistic assessment of behavioural change of a student's learning of ‘digestive system’ can be best
done by

A) A project requiring students tabulation of their food consumed for a week - reflecting on their
balanced diet

B) Asking students to write a poem or a short story on the digestive system - based on classroom
discussion

C) Assigning a task requiring students to create a craft piece of the digestive tract - reflecting their
understanding

D) Conduct periodic quizzes and tests based on the sub-topics within the chapter - throughout the
lesson

58) An example for an open-ended task in the teaching of a topic like ‘asexual reproduction’ would be to

A) Prepare exhaustive notes on the topic by reading on the internet

B) Visit a nursery and talking to the Gardner and the planting process of plants

C) Taking notes during the class on the lesson and comparing it with the textual material
D) Thoroughly examine the topic from all different angles

59) Which of the following staes the meaning of a 'Blue-Print' appropriately?

A) A blue-print is a three dimensional chart, where weightage is given to Content, and the importance of
the subject tested and the students level
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B) A blue-print is a three dimensional chart, where weightage is given to Content, subject tested and the
student's social background

C) A blue-print is a three dimensional chart, where weightage are given to Content, Objectives and Form
of Questions interms of marks.

D) A blue-print is a three dimensional chart, where weightage is given to Content, and the importance of
the subject tested and the student's intelligence levels

60) Which of the following principles help in preparing relevant test items.?

A) Test items must be appropriate for the learning outcome to be measured
B) Test items should measure only specific types of instructional objectives
C) The test items should be oversimplified to avoid ambiguity

D) The test items must be very difficult if the learning task is easy

61) The second step in preparing the table of specification is to outline the content area. This helps in which
of the following ways?

a) To identify the area in which the students are expected to perform.
b) It helps in repetition and inclusion of all-important units.

c) It helps to obtain a representative sample of the whole content area.

d) It indicates that the weightage to a topic need not be decided by the number of pages allotted to it in the
text book.

A)cd
B) b,c
C)a,c
D) b,d

62) The important dimensions of children’s socioemotional development are the

A) self,gender and morality

B) genes, environment and gender
C) service,society, self

D) growth,culture,economy

63) Children because of egocentrism, engage in

A) Operation
B) Conversion
C) Animism
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D) Centration

64) Which of the following doesn't belong to the category of teratogens?

A) Metabolic conditions
B) Radiation

C) Recreational drugs
D) Balanced diet

65) A teacher uses the activity of drawing the map of a classroom while introducing the concept of ‘scale’
.This relates to

A) Maintain equilibrium

B) Adapt to a new concept
C) Develop understanding
D) Experience physical world

66) Huntington's disease is an example of:

A) Recessive gene disorder
B) Germinal disorder

C) Embryonic disorder

D) Dominant gene disorder

67) When thirsty very young children may turn to drink any water available, indiscriminately without

considering hygiene and potability. An adult guides the child to distinguish water that can quench thirst from
other uses of water. This is an example for

A) Saocial interaction and development
B) Peer learning and guidance

C) Learning strategies and discovery
D) Identification and utility of objects

68) A math teacher presents two advertisements of computers sale while teaching percentage and
decimals. One offers the lowest price in town and another offers 15% additional discount. When students

get down to the task of deciding based on facts, some are quickly able to to solve the issue while others
need some help and some others struggle. This is an example of applying

A) Zone of Proximal Development

B) Adapting Instructional strategies

C) Relating culture and society in learning

D) Breaking down the problem to easy pieces
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69) In designing the curriculum it's important to keep in mind that the primary years of schooling should
focus on real - life experiences that surround children. Learning about animals and their habitats, numbers

and operations on them, about family structure etc. become the content of the material students learn during
these years. This is because children in these stages exhibit

A) An ability to think logically about concrete objects

B) An ability to think abstractly and generalise the results

C) Perception dominating children'’s thinking

D) Usage of the senses and motor capacity to make sense of the world

70) The second oldest board of the country is

A) NCERT
B) SCERT
C) CBSE
D) KVS

71) Which of the following is NOT a part of the management cycle?

A) PLANNING

B) ORGANIZING
C) EVALUATION
D) PROJECTION

72) Sarva Shiksha Abhiyan aims to

A) update and design curricula
B) provide support for the professional education of children of school teachers

C) provide useful and relevant elementary education for all children in the 6 to 14 age group by the year
2010.

D) provide book Promotion and Copyright, Scholarship, Languages and Minority Education

73) Match the Columns

1) Prime Minister Manmohan Singh a) National Literacy Mission (NLM)
2) Prime Minister Atal Bihari Vajpayee b) Saakshar Bharat Abhiyan
3) Prime Minister Rajiv Gandhi c) Sarva Shiksha Abhiyan

A) 1a,2b,3c
B) 1b, 2c, 3a
C) 1¢,2a,3b
D) 1b,2a,3c
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74) One of the implications of seeing higher secondary as the range of classes between 9 and 12 in the
New Education Policy, 2020 is

A) Reducing the burden of staff budget by diminishing teacher strength

B) The provision for using the same staff for all the classes of secondary and higher secondary
C) Having enough time to prepare for competitive examinations

D) Access to subject variety instead of narrow streams of arts, science and commerce

75) While teaching Nazism one encounters the problem of contextualising anti-semitism. What could be a
way to contextualise it?

A) Enlisting racist attitudes in our own historical episodes

B) Discovering our own inherent racism in daily life and language
C) Explaining the problem of Jews in total context

D) Developing a thorough description of the lesson

76) The National Curriculum Framework, 2005 emphasises on the active learner. A process of questioning
that may promote active learning is a question like

A) If the answer is 5, what might be the questions?’
B) list reasons for the World War II’

C) What is 33 take away 27 plus one?’

D) Mention the causes for machine wear and tear’

77) Which of the followings statements is true?

A) There’s no need for any policies as it hardly makes any difference to the overall performance of
school or children

B) Any policy remains contentious for some time as education is highly collaborative, contextual and
also belongs to the rights of states

C) Policies generally focus only on higher education and hence it hardly has any impact on the
grassroots level of schools and institutions

D) No policy has ever made any change to the world of education and to growing economy like India

78) Judd says that transfer of learning is nothing but a

A) Generalization

B) Identification

C) Commonization

D) Formulation of Habits
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79) Rohan just studies before exam to pass. This is an example of

A) Surface approach
B) Strategic approach
C) Deep approach

D) Exam approach

80) A 3 year old kid batting the balls playfully thrown by her father complains that the father is missing
aiming for the bat properly. This is an example of

A) Transformative thinking
B) Systematic reasoning
C) Egocentrism

D) Reversibility

81) A child fails miserably in one of his algebra tests and is devastated. The next time he approaches an
algebra test he experiences anxiety. This is due to the child’s

A) Generalisation

B) Higher order thinking
C) Analysis

D) Knowledge application

82) Mild learning issues are likely to crop up in any classroom and identifying it is key to effective
management of classroom and learning. A learning disorder that could show up as an inability to write
proper spellings, inverted letters and a general inability to make sense of reading is

A) Dysgraphia
B) Dyscalculia
C) Dyslexia

D) Dyspepsia

83) Ramesh is a teacher in grade 7. He expects absolute silence in his class through out a lesson. He
doesn’t tolerate even small distractions and imposes huge penalty for disruption. Such a style can be
classified as

A) Activist

B) Laissez-Faire
C) Authoritarian
D) Firm

84) Which of the following is true about students motivation to learn?
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A) Constant praise and reward helps student remain motivated
B) Praise and criticism should be in equal measure

C) Positive teacher mindset in the class

D) Should tap the intrinsic motivation to learn and be curious

85) When preparing classroom space, teachers need to think about

A) Arrangement of furniture in neat rows and columns
B) Communicate behaviour and learning expectations
C) Have a thorough check on student background

D) Ensure all distractions are cut

86) Which of the following ensures equal participation opportunity amongst students in a class of 30
students?

A) Seminar and presentation style

B) Group clusters with individual tasks
C) One-on-one style

D) Lecture style

87) Which of the following concepts explains that 'A student is able to perform simple addition when working
with a teacher or parent, but is frustrated when performing the task alone.’?

A) Conditional Response

B) Zone of Proximal Development
C) Adapting to Instructions

D) Sociocultural Adoption

88) In order to manage and enhance learning class notice boards should be used for communicating

A) Humour, daily news and appreciation

B) Specific information on homework and lesson schedule

C) Importance of aesthetics and cleanliness

D) Behavioural expectations, Lesson objectives and to gain learner interest

89) The Constructivist approach to learning incorporates

A) Negotiated rules set by teachers and the students
B) Firm classroom rules set by teacher

C) Learner - obedience training

D) Top-down management
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90) Which of the following indicates the difference between formative and summative assessment?

A) A formative assessment is a yearly test but a summative assessment is a monthly test.

B) A summative assessment helps to test mastery of content but a formative assessment supports
learning.

C) A formative assessment is an oral test supporting learning but a summative assessment is a written
test.

D) A summative assessment is for information of parents and adherance to standards but a formative
assessment is classroom testing.
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Section 5 - Paper |l History and Political Science

No. of Questions: 10

91) Who among the following witnessed the reigns of eight Delhi Sultans?

A) Malik Muhammad Jayasi
B) Iltutmish

C) Amir Khusrau

D) Hasan Nizami

92) The local self-government was associated with which British official?

A) Lord Ripon
B) Hawkins

C) Lord Curzon
D) Wellesley

93) In the Allahabad Pillar inscription, the achievements recorded, belong to whom?

A) Sri Harsha

B) Samudra Gupta
C) Skanda Gupta
D) Kumara Gupta

94) In which book it is mentioned that Mauryan Society had had been divided into seven classes?

A) Megasthenes
B) Mudrarakshasa
C) Arthashastra

D) Indica

95) What was the British objective for India as per ‘August Offer of 1940’ that was announced to get Indian
Cooperation?

A) Dominion Status
B) No Government jobs

C) Purna Swaraj
D) Responsible Government
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96) Har Bilas Sarda was instrumental in the passage of the famous Sarda Act of 1930, for which provision?

A)  Widow Remarriage for girls below 16 years of age
B) Education of widows and children below 16 years of age

C) Penalisation of parties to a marriage in which the girl was below 16 or the boy was below 20 years of
age

D)

Penalisation of parties to a marriage in which the girl was below 14 or the boy was below 18 years of
age

97) Who among the following was a member of the drafting committee of the Indian Constitution?

A) Vallabhbhai Patel

B) Sardar Patel

C) Alladi Krishnaswami Aiyar
D) Dr. Rajendra Prasad

98) Who is the Indian Government's first Law Officer?

A) Chief Justice of Supreme Court
B) Attorney General of India

C) Chairman, Law Commission

D) Chief Justice of India

99) The first use of ‘Pocket Veto’ was made by which President of India?

A) Giani Zail Singh

B) Dr. Sarvepalli Radhakrishnan
C) V. V. Giri

D) Neelam Sanjeeva Reddy

100) If the President disqualifies a Member of Parliament, whose opinion he shall obtain?

A) Election Commission of India
B) Attorney General of India

C) Speaker of the Lok Sabha

D) Chief Justice of India
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Section 6 - Paper || Geography and Economics

No. of Questions: 10

101) Under which project Tilaiya Dam, Konar dam, Maithon Dam and Panchet Hill Dam have been
constructed?

A) The Damodar Valley Project
B) Kaveri Project

C) Godavari Valley Project

D) Mahanadi Project

102) The highest amount of Nickel Ore resource is found in the state of

A) Bihar

B) Orissa

C) Madhya Pradesh
D) Digboi

103) In northern India the ‘Deccan Tableland’ is divided from Central Highlands by which river?

A) Hooghly
B) Narmada
C) Ghaghara
D) Kosi

104) As per the Census 2001, which state of India has the highest Scheduled Caste population?

A) Delhi

B) Chandigarh
C) Uttar Pradesh
D) Haryana

105) Which Indian state is provided the irrigation facility by the “Indira Gandhi Canal”, which is around 450
km long?

A) Maharashtra

B) Madhya Pradesh
C) Rajasthan

D) Andhra Pradesh
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106) In which of the following regions of India the homogenous group “Mangolab” is found?

A) North-East Region

B) North-Western Region
C) Southern-Central Region
D) South-Region

107) The “GRAND INNOVATION CHALLENGE" was launched by

A) NITI Aayog

B) Democratic planning

C) Centralized planning

D) National Institute for Transforming India

108) Economic reforms began in which of the following years?

A) 1977
B) 1985
C) 1992
D) 1991

109) In the comparison of countries at the level of development, what is the most important attribute?

A) Language

B) More business
C) Income

D) Religion

110) Which among the following options is generally considered as risk-free investment?

A) Salary of an individual
B) Loan to buy a Car

C) Mutual Funds

D) Treasury bills
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Section 7 - Paper Il English

No. of Questions: 20

Read the following passage and answer the questions: (111-115)

Bent double, like old beggars under sacks,

Knaock-kneed, coughing like hags, we cursed through sludge,
Till on the haunting flares we turned our backs,

And towards our distant rest began to trudge.

Men marched asleep. Many had lost their boots,

But limped on, blood-shod. All went lame; all blind;

Drunk with fatigue; deaf even to the hoots

Of gas-shells dropping softly behind.

Gas! GAS! Quick, boys! —An ecstasy of fumbling
Fitting the clumsy helmets just in time,

But someone still was yelling out and stumbling
And floundering like a man in fire or lime. —

Dim through the misty panes and thick green light,

As under a green sea, | saw him drowning.

In all my dreams before my helpless sight,

He plunges at me, guttering, choking, drowning.

If in some smothering dreams, you too could pace
Behind the wagon that we flung him in,

And watch the white eyes writhing in his face,

His hanging face, like a devil’'s sick of sin;

If you could hear, at every jolt, the blood

Come gargling from the froth-corrupted lungs,
Obscene as cancer, bitter as the cud

Of vile, incurable sores on innocent tongues, —
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My friend, you would not tell with such high zest
To children ardent for some desperate glory,
The old Lie: Dulce et decorum est

Pro patria mori.( sweet and fitting it is to die for one's country.)

111) Which of the following best describes the scenario in the poem?

A) war and death

B) hunger and poverty
C) blood and violence
D) killing and revenge

112) What is the mood of the narrator?

A) optimistic

B) cynical

C) empathetic

D) condescending

113) Which of the following conveys the meaning of the lines ‘Till on the haunting flares we turned our
backs'?

A) the poet had burning backs

B) they left behind their happiness

C) they moved away from what was burning
D) they were haunted by their enemies

114) According to the poet, who is filled with gusto?

A) his friend

B) young child
C) cancer patient
D) violent crowd

115) From the poem we understand that

A) Suffering is inevitable

B) There is no much glory in dying in a war

C) War makes people haggard and pessimistic
D) The poet is against his friend for waging war
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116) Identify the word which has similar pronunciation as the given word: HURRY

A) Dairy
B) Diary
C) Curry
D) Query

117) Identify the word which has similar pronunciation as the given word: BATTERY

A) Boundary
B) Gallery
C) Summary
D) Library

“‘Golbasto Momarem Evlame Gurdilo Shefin Mully Ully Gue, most mighty Emperor of Lilliput, delight and
terror of the universe, whose dominions extend five thousand blustrugs (about twelve miles in
circumference) to the extremities of the globe; monarch of all monarchs, taller than the sons of men; whose
feet press down to the centre, and whose head strikes against the sun; at whose nod the princes of the
earth shake their knees,; pleasant as the spring, comfortable as the summer, fruitful as autumn, dreadful as
winter: his most sublime majesty proposes to the man-mountain, lately arrived at our celestial dominions,
the following articles, which, by a solemn oath, he shall be obliged to perform:—

“1st, The man-mountain shall not depart from our dominions, without our license under our great seal.

“2d, He shall not presume to come into our metropolis, without our express order; at which time, the
inhabitants shall have two hours warning to keep within doors.

“3d, The said man-mountain shall confine his walks to our principal high roads, and not offer to walk, or lie
down, in a meadow or field of corn.

“4th, As he walks the said roads, he shall take the utmost care not to trample upon the bodies of any of our
loving subjects, their horses, or carriages, nor take any of our subjects into his hands without their own
consent.

(Questions from 118-122)

118) How far did the emperor of Lilliput's dominion extend?

A) 10 miles
B) 12 miles
C) 24 miles
D) 30 miles

119) What is the meaning of Celestial as given in the passage?
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A) Relating to a man
B) Relating to Hell

C) Relating to Heaven
D) Relating to a home

120) After informing the people, for how long could the man-mountain go outdoors?

A) 1 hour
B) 10 hours
C) 2 hours
D) 9 hours

121) Where was the man mountain unpermitted to move on?

A) In the palace

B) On the high roads
C) In the places

D) In the corn fields

122) What was the law regarding man-mountain leaving the kingdom?

A) He could leave whenever he wanted
B) He was imprisoned in the jail

C) He had to ask permission to leave

D) He did not want to leave the kingdom

123) Chose the word that is spelt correctly and fill the blanks:
Please put these papers in the .

A) envalop
B) envelope
C) anvalop
D) onvalope

124) Fill in the blanks with correct option:

The money lender charges interest 12 % per annum.

A) for
B) on
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C)at
D) in

125) Chose the word that is spelt correctly and fill the blanks:
His plan has the of being less expensive and safe.

A) advantej
B) advantage
C) advantege
D) advanteg

126) Fill in the blanks with the correct form of verb:
He valuable experience while working on the project.

A) gain

B) gained

C) gaining

D) have been gaining

127) Chose the word that is spelt correctly and fill the blanks:
Sometimes is necessary to drive a point home.

A) repitition
B) repeatition
C) repetition
D) ripetition

128) You will find a sentence using direct speech (words actually spoken) followed by four options. You are
required to choose the one that is the correct form of the sentence in indirect/reported speech
Rooney said to Lara "This is the last chance for you to reverse the disastrous failures of the past."

A) Rooney asked that has been the last chance for Lara to reverse the disastrous failures of the past
B) Rooney said that had been the last chance for Lara to reverse the disastrous failures of the past
C) Rooney said that were the last chance for Lara to reverse the disastrous failures of the past

D) Rooney said that that was the last chance for Lara to reverse the disastrous failures of the past

129) You will find a sentence using direct speech (words actually spaken) followed by four options. You are
required to choose the one that is the correct form of the sentence in indirect/reported speech
Jim: "Should | send a message of condolence to Sam's wife and family?"
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Jim was wondering if he should send a message of condolence to Sam's wife and family
Jim is wondering if he should send a message of condolence to Sam's wife and family
Jim wondered if he should send a message of condolence to Sam's wife and family

Jim wonders if he should send a message of condolence to Sam's wife and family

130) You will find a sentence using direct speech (words actually spoken) followed by four options. You are

required to choose the one that is the correct form of the sentence in indirect/reported speech

Mark said, "They may expect us to be available at such short notice today."

A)
B)
C)
D)

Mark said they may be expecting them to be available at a short notice today
Mark said they might be expecting us to be available at a short notice today
Mark said that they might expect them to be available at such a short notice that day

Mark said they may expect us to be available at a short notice that day
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Section 8 - Paper |l Odia

No. of Questions: 20

131) QIR F1IEA AN ATG AGMIRY AGR ARG @6 GRIAN?

A) ¢8¢
B) geus
C) aaiq
D) qie@

132) ‘9’ 99 996 geia adial

A) eq+a
B) g +aa
C) aag+aa
D) eag+aa

133) "2 6AIRG AFIR 626m Faa AFIQ F6a|" 6AHITE 06 @ IR ASRIF Q4|

A) FeR9I9R

B) Gdioe

C) agea calie
D) age qIoe

134) "TRITQ @869 67160 QIR AITA|" QUGS 997 & JRIQ AXRIE Q<I2|

A) |16 Qo
B) gé qioa
C) g qioa
D) @l qioe

135) €814 8 6661 QR F0C FAF 'Sl QRIAN?

A) 9qe G
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B) aaidal geu
C) zaqidel g
D) eQld@ e

136) ‘76 AR RS- QB QLR 2 g2 |

A) 2ga saQl
B) Sal @dal
C) aaqel 624l
D) ag v@al

137) 'AI9IE’ Q §F QU 94 29 |

A) aigig
B) aiaig
C)asg
D) aisig

138) QUUQ- 69Q 226 P! AAQIS AN 610G

A) 6215148
B) agan
C) Qaal
D) cieriany

139) ‘2RI Q& QRS AT ANER 64IF 6QRIYEMI CAMES AR 6aQ ANy o197

A) @99Q 69 9gd
B) a4l dieg

C) ayaieie

D) age1@

140) 'QIg 719 @ AT 6T @
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A) Qig+aq
B) qig+a1a
C) qie+ag
D) qig+aia

141) 'gell’' 9e56a "2’ AT 604 26q AR FAUUIRE?

A) gria
B) 1%
C)ae
D) age

142) "96519% 60 RIS F1IR CAHITRII" 28 AT 609 gIIa QIeY Fda a8l

A) 2QQI%Y QIRY
B) age

C) ¢Ga

D) eqlGia

143) "Q1UIOR16E W6Q F6Q Q1 FERI" 6ALIFE 8T Fa@ Fda |al

A) agal
B) ogeli
C) gotgl
D) gotan

dI91 RIREQ FVYCER FRaF 2IFAea OF QU 2 @RISR 6ACNER 6A0IER AR AT 92 AR @A /1R
ARITE RAQIQ 69 AR IR 6ATIG ACAR G YOAIGR AFHIR 62919 UPEER F1dl 6R6Q 6T6R 6JAYLA
622 G26M I 1Tl TREA 699168 FRQ RIS FEAE @A AAIFER A’ 2GS IR 69199 (18 FAM AHIAL FRIER | IVG
QAR ARG FRSIFS JAAIg 62926m|

Questions from (144-148)
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144) 'GQYI'- NSl 69Q JAIQ 98 QEIZI?

A) 6289
B) oq ag
C) oQ @Q
D) aud

145) '2g@04' 496Q 29’ AAAGE F6¢IS FIQ 699 26Q MRS 62NRF?

A) asuQ
B) aidaa
C) aige
D) aqiq

146) '63QY- OB I8G @ JRIQ eI Fda @Q
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